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1) Atte@yq.l orlQ.2and Q3 or Q4.

4) Neat ¢iagrams must be drawn wherever necessary;,
5) Figg to the right indicate full marks.

Q1) a) %olve the following differential e nSanytwo) :
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b) The d@l equ@fb’n satisfied by a beam, uniformly loaded ()%) one
€ e se%f)ﬁji subjected to a tensile force 'p' img;yen by [9]
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2) U@ elq@})nic pocket calculator is allowed. > 6
3) Assume Slitable data if necessary. , EE
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Q2) a) Solve the following differential equg@ns (any two) :
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b) Fiad the ed%’s}ic curve of a uniform cantilever beam o

Q3) a) @’olve the following system of e '}E@‘ using Gauss-elimination
method 3 [5]
4Xx+y+z=4 8‘;%

X+4y—-2z=4
3X+2y—-4z=6 R4 >
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b) Using Rung @ m et]qézi/of fourth order to solve ,[Q
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Q}lv he following system of equations by using‘@le%gky&{lethod. [9]
% X, +2x + 14x, = 14 Y &
2%+ 17%, — 5%, = —101 O (b\,
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14X, — 5X, + 83X, = 155
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Q4) a) Apply Gauss Seidel method to solv%be equations [9]
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10x1+x2+x3=12 é\o
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2x + 10X +x, = 13

2%, + 2%, + 10&63&; ‘{D\q/
Q.

b) Solve the aqf;?lory%’ =X +Y;¥(0)=1 to find y at X = 0.05, using

Q
Euler'z@ﬁe@ﬂethod by taking h=0.05. &]

c) N(H%al@%iution of'the differential equation & =2 Js'tabulated

dx
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